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Cryib : 3 wewtl | [ Qurgs wHuGuaTser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
oleyenr : (1) masg damsserd sflurs Lufleurdl o draTsT eraTLIGENET

gfluriggs Qsrarara . HFsLILSeND GapulHLde Si®ns
sasgrestiurerflLb o L anguingsd Gsflellssaid.
(2) Bew oeg spliy ewvulmer WL HGL ewWgusHEU
pwearu(®ss Ceuear@b. ULBSE aumfeugsn@ Gueréle
LwerU(h&Sa L.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.
LGS - I/ PART -1
GO : 6060 ellaTTESER&EGD elenLwefl&sa .
Note : Answer all the questions.

ghlwrer ellenLewws CaibbsHS5g 6T (PSS 50x1=50

Choose the correct answer :
1. @@ premuwpbd @ usmLLbD @mEGs elsliuGbCurg ghuBL ereoder
efenereyseflen crewreantlEens

(1) 7 (=) 8 (@) 12 (FF) O
When a coin and a die are thrown, the number of all possible cases is :

@) 7 b 8 < € 12 @d o

[ Sliyss / Turn over
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2.  Blepssey Qumb whHiiyser :

(21) -~ dA@pgl + = ey (%) — = dlEpg 1 aeny
(@) o SwHS +1 cuenry (FF) =1 @mpa +1 eueny
Probability can take values from :

(@ —-»to+w (b) —-wtol

(©) Oto +1 d -1to +1

3. Q® useLsdr eSeliL@D Curg @l enL_sdr (@® useL g, GG 6Tt )
fev_Liugparer Hapssa; :

1 ) 1 3
(=) 2 () 3¢ (&) 5 (7} 2
When two dice are thrown, the probability of getting doublets (same number on both
dice) is :
1 5 1 3
@ = e e GRS

4. A wpmib B @rew@id genenGlwrern eladsn Blepéfsarruden P(AUB) =

(1) P(A). P(B) (<) P(A) +P(B) (&) o (rF) 1
If A and B are mutually exclusive events, then P(AUB) =
(a) P(A). P(B) (b) P(A)+P(B) () O (d) 1

5. 1 wpsed 20 eerwerer Y@ eansailed (integer) e PP  &Temr
Caib0sBsstiL@Hng. Gl 4 PO UGUOL eTETaTTS B)(Hés Geuanig
Blepse, :

(@) § (@) 5 @) 5 (") 15

An integer is chosen from 1 to 20. The probability that the number is divisible by 4is:

1 i 1
@ 5 ®) 3 © 3 (@)



3

6. ¥ P(AnB)=0.3, P(A)=0.6, P(B)=0.7, erefléb P(A/B) eremLig

10.

(@) 2 (=) (@) 5 () 2
If P(AnB)=0.3, P(A)=0.6, P(B)=0.7, then the value of P(A/B) is :
@ > ® 3 © 3 @ 3
BaE GRSSIULL @ FLOS s gdmhal @ ‘ewCul rre QuneishaTe
Bl&pssa) :
1 1 4
(o) 35 (=) 5 @) 13 (7) 1
Probability of drawing a ‘spade’ queen from a well shuffled pack of card is :
1 1 4
ot L @ @ 1

1
@@ Fweurwiy wrhluder UFeudUly (WLIHUTLL eTenel) 16 Tl =g

S alawssbd :
1 1 il 1
(1) 522 () 55 (@) (5 of
1
Variance of the random variable X is “lg ; its standard deviation is :
fin ot s Ul
(s b ® = @ 5

X erenp gaflgg sweuriiiy wrpluler wduyseiear Hspsseaser p; erammre
X2 @en eriumisse eramm er(PSLILBEDS.
(=1) 2x;p; (=) Exizpi (8) Exgzpiz () Exipiz

If X is a discrete random variable with the probabilities p,, then the expected value of
X2 is

(@) Sxp, b 3:2p; (@ Za’p? (d) Zx;p?

Var (5X+2) erenig

(<31) 25 var(X) (<=4) 5 var(X) (@) 2 var (X) (FF) 25
Var (5X+2) is :
@) 25 var(X) ) 5 var(X) © 2var (X d 25

3678
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11.

12.

13.

o : 3 3 ! : :
@ soeumiiliy wrdl X @ E(X)= 7 and EQ®) = 5 cTafled <SiFE LOMMILITL L GTenay

3 1 9 3

(=) 55 () 7 (8) 3% (") %o
_ 3 . PRI

A random variable X has E(X)= 1 and E(X?) = 5 its variance is :

3 1 9 3
@ 5 b) 7 © T d 3o
F(x) @@ Ureue &riy erailed F(+ ®) eremug) :
(1) -1 (=)0 @)1 [Fe) £
If F(x) is a distribution function, then F(+ ) is equal to :
@ -1 (b) O © 1 id) =

X eremp QarLir sweumiiiiy] wrhlssrer Hlspsse SILTEHE eriLy f(x) erafiled,
ApuQweys griy ()=

b b

(1) je”‘ flx)dx, a<x<b (<) Jeit" f(x)dx, a<x<b
b b |

@) If(x)dx, a<x<b (+F) je‘tx dx, a<x<b

For a continuous variable X having density function f(x), the characteristic functior
o ()=
x

b b
(a) Jet" f(x)dx, a<x<b (b) Ieitx f(x)dx, a<x<b

b b
(©) Jf(x)dx, a<x<b (d) Jeit"dx, a<x<b

a



14.

15.

16.

17.

n

5 3678

iglp(xi ) GTETLIG]

(=1) 0 (2$)1 (&) -1 (), o
‘glp(xi) is equal to :
(@) O (b) 1 (€) =1 d

FFEEDILLL UFeueme ppambwns Biramuiss Qame Asfibgred Gurgb
(1) p LB® (<2b) q LLHD (@) popmog () pwdmbn
The binomial distribution is completely determined if it is known :

(@) ponly (b) qonly () pandq (d) pandn

grrefl 10 b, uhdsaier carafsms 30 b 2w FHOUY UFeald
Carevailsarar Hlepsse] :
(<21) 0.25 (<2p) 0.333 (@) 0.666 (7)) 0.9

The mean of a binomial distribution is 10 and the number of trials is 30 then probability
of failure of an event is :

(@) 0.25 (b) 0.333 () 0.666 (d) 0.9

FRHMILILIL UTeuellen SLenLWeTenal :

= 1—6 l=6 =
(o) B2 O o

The Kurtosis of a binomial distribution is :

P—q 1-6pq 1-6pq q-p

®) Thpq © Jopq @ npq

[ Sipliys / Turn over
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18. umbgrer ugeuallen grrafl 0.49 erafled HiLelewésid DG LD.
(=4) 0.7 (<=4) 0.49 (@) 0.07 (/) 4.9

The mean of Poisson distribution is 0.49 and its standard deviation is :

@) 0.7 (b) 0.49 (c) 0.07 (d) 4.9

19. umlgmer Lreuadle :
(=1) spradl > wrmur@ (<) ermefl = wrpur®
(@) srmrefl < wryUT@ () epmefl # wrmur®
qu a Poisson distribution :

(a) mean > variance (b) mean=variance

(c) mean < variance (d) mean # variance

20. umiueren ugeueled, erdifumissluBD HepCeua sream LweTUHSsLU (D
LOIBTe| CFTLTureng DG LD.

(@) flx+ D= 2w () fx + D= T )
(@) f&) =" f+ 1) (%) f@=2fec-1)

In Poisson distribution, the recurrence formula to calculate expected frequencies is :

@ fe+ =g B e+ =i

© fer="Rsa @ fE)=Zf@-)
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»
21. swearitiy wrH X & wHULEE (k—20, p+20) aarp QL Ceual&@er
THUBSEID Blspsse : ‘
(=1) 0.9544 (<) 0.6826 (&) 0.9973 (FF) 0.0027
The probability that a random variable X lies in the interval (u—20, p+20) is :
() 0.9544 (b) 0.6826 (c) 0.9973 . (d) 0.0027

_1 (x = 300
22. Quaéfoe wrillear Hspssey LTSS sriy  f(x)= . B
52w

—w<x<ow erafled ymefl wHmD wrour@ :
(1) sgrefl =30; wrmur® =5 (=) gyrefl =0; wryur® =25
(@) errefl =30; wrmur®h =25 (/r) eprefl=30; wrpur® =10

1 (x — 30
Probability density function of normal variable is f(x)= ——— e 2 2
¥ y =
— o < x < o then mean and variance are :
(@) mean=230; variance=>5 (b) mean=0; variance=25
(c) mean=30; variance=25 (d) mean=230; variance=10
23. P(—ow<z<0)@en LFliLieTe] :
(=) 1 (=5)0.1 (&) 05 (7) 0
The area P(—w < z < 0) is equal to :
fa) 1 (b) 0.1 () 0.5 (d O

24. sar_dlutiul L wréfluler e9fsb “P” a1 S Lileny

(o) {52 () == @ = " 3

The standard error of observed sample proportion “P” is :

B2l = P | 2
e ] © 2 @ 2
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25,

26.

R

28.

8

rHCarer cremUemng @eiauTn eumsLILHSSOMD :

(=) eraflwusrs (=) SOL@EIWITE

(8) Qo creyonm) () Cupamplu iasgid
A hypothesis may be classified as :

(a) Simple (b) Composite

() Null (d) All the above

5% Apliy sram wLL Sjeredld Gmepamen Cergamanssmar &irey s iy
|Zo| :

(<=1) 1.645 (e21) 253 (@) 2.58 (/F) 1.96
Critical value of |Za| at 5% level of significance for two tailed test is :
(a) 1.645 (b) 233 (¢ . 2.58 (d) 1.96

CeTgmanuTaIs] GHLPMET DADDF QHLP®ET cranugl Qe QUIMISSSTELD.

(=) wrom erGsTer (=) sy erGsarar
(@) @& ergyid er(HGaTaT (r) eraflw erGamar
Whether a test is one sided or two sided depends on :
(a) Alternative hypothesis (b) Composite hypothesis
()  Null hypothesis (d) Simple hypothesis
G

= 5, el 9] Q =

1 2 3

(=) 3 () 3 (@) 3 (") 3

(© (d)

wl| N

W=
| W

1
5 (v)
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29. Qrawr® erreflsErsE @l Cuwrer agdwurssdpsrear yereflulwe

30.

31.

Cargenamnureng :
= 5P
X— i
P
(e (@) [F
X =% P1 P
2 2
@) o, () JPQ [i - _1_]
ny np nj np
Test statistic for difference between two means is :
= K
xX—p izl
) B ORINES
n-% P~ Py
2 2
€ |1 .92 (d) pQ[L+L]
nj np nq njp

Qu@pmsgmpnsd CariurieLl uweru(hsgieud eriCurg erafle :

(=4) n>30 (<) n <30 (@) n <100 (FF) n <1000
Large sample theory is applicable when :
(@ n>30 (b) n<30 () n<100 (d) n <1000
: : X-Y : 5 : ; ;
Hetafluwed jerenel z= e vweru(hssUUBL @6 erayd
e
L (B
er(hCamarreng
(@) H,: n=pg (@ wrdled) (FF) eremeuwld @eenaw
Statistic z = _)2(1__YT is used to test the null hypothesis :
o ’-— =i —
g R
(@) H,:p;+p,=0 () H,:py—uy=0
(¢) H,: p=pgy(a constant) (d) none of the above

[ $mliys / Turn over



3678

32.

33.

34.

35.

10
evEGLerT ‘t" ureuedlen perGenmig. :
(<=21) srited 1GwiTeve (<=4) emliemev
(@) RA. Gegagi () eflevedlwib S. srGlen_
Student’s ‘t’ distribution was pioneered by :
(a) Karl Pearson (b} Laplace
() R.A. Fisher (d) William S. Gosset

t - llLser Qen_Geuafludedr ) méeLo.

(=) —= @ Qois 0 (=2) 0 @ @Bha) =
(&) ~= @& Qopal © () 0@ Qi 1
t - values lies in between

(a) —oto0 (b) Otooo

() —ootow (d) Oto1l

9 Qevanr wALLsaflan sprefsEnsdauorear elsdHwrsn 15.0 wHmLb L
allwssd 5.0 el Cargener ieTenal t &1 AL :
(1) 27 (=) 9 (&) 3 (7) gBgub

The mean difference between 9 paired observations is 15.0 and the standard deviatior
of difference is 5.0 the value of statistic t is :

(a) 27 (b) 9 () 3 (d) zero

sarsSH Gaiwuiul L x? 6 iy :

(1) eruCumgyd Wlens eregor (=) eruCurgid Genm eremT
(@) Wens v Gem eremr (7)) Qeupdled gy @denen
The calculated value of x? is :

(a) always positive (b) always negative

(c) can be either positive or negative (d) none of these



36.

37.

38.

39,

o

11 3678
aaalss Cersmanid 4x3 Coireyl UL iguiedlem auerhm LITems :

(@) 12 (<=2$)9 (8) 8 () 6

Degrees of freedom for chi - square in case of contingency table of order 4 X3 are :

@) 12 b) 9 () 8 d) 6

@& aUTés LiFeuadlet wps& :

(=) n (<) 2n (@) n+2 (FF) n=2

The mode of x? distribution is equal to :

@ n (b) 2n e d n-2
F oerenauude aupgsors Guflu wrmum @\(mEGLD.

(<) uEHde (<) Agr@duie

() Qrewrgaid () @eveu eTge|dleenen

Customarily the larger variance in the variance ratio for F - statistic is taken :
(a) in the denominator (b) in the numerator

(c) either way (d) none of the above

wropurl @ ueluruelneiu sgoramsaid gearmrer r(H&HILL L
Fmser QupliLl L pupewd AsrEswurearg :

(=) FEHmUY - (<) umlsTe (@) s aissd  (F) Qudblee

One of the assumption of analysis of variance is that the population from which the
samples are drawn is : ;

(a) Binomial (b) Poisson (c) Chi - square (d) Normal

[ Slgpliys / Turn over
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40.

41.

42,

43.

12

@ el LTEUM e QTSs THILIML g6 Qfleyseflen erameani&amswneang :

(1) @ran® Gifleyser (<) epeny Gflayser

(8) preng flayser (m) @Cr e@ difley

In the case of one - way classification the total variation can be split into :
(a) Two components (b) Three components

(c) Four components (d) Only one component

TSS, SSC wHmib SSE wewnCGu 120, 54, wHmID 45 e o arem @ mauifl
Lr@GUTLige SSR g :
(=4) 20 (=) 21 (@) 30 () 31

In the case of two - way classification with 120, 54, 45 respectively as TSS, SSC, SSE,
the SSR is :

@) 20 b) 21 () 30 @ 31

QW HTes ST auflensude sraiiL@D srraT(H D QDESHEIGMET Qg
Qewieugl _ LIHUTH AGLD-

(<=1) @eBsHD () sipa

(@) umeusTe () @eneu aiémmg@i.b

Quarterly fluctuations observed in a time series represent variation.
(a) Irregular (b) Cyclic

(c) Seasonal (d) All the above

GuésE Carliyen smiey CrflenL erafled Qs sT_(Heugl?

(1) oo Cursg (=) @prEh Curss,

(8) Hevaggenenio () GupsaflucuhpieT eTgia|bd @oame
If the slope of the trend line is positive it shows :

(a) Rising Trend (b) Declining Trend

(c) Stagnation -~ (d) None of the above



45.

46.

47.

13 - 3678

i
44,

QuIeTTSTy THY QDESS Cari_ur@® (thythm theory) Q&mesm@Bierer Gfefen
QUGS LITENS:

(1) uGLUTLG| WPE®DSeT (<=3) ‘Cpall penm’
(@) SiareS( pempsar () erglab Qeema
The economic rhythm theory comes under the category of :
(@) Analytical methods (b) Naive method
() Barometric methods (d) None of the above

o 9feldn Smablaa erag eru@UTRSID creuauflens iaaeuaTsafien
s (s@mad e gl ?

(=) 8 aufleng Gfleysar (<=3) G euflens Gflajsar

(@) yiBw aflems Gflese () @aupded ergiayd Gevene

The frequency of class can always be expressed as a sum of frequencies of :

(a) Lower Order Classes (b) Higher Order Classes
(c) Zero Order Classes (d) None of the above

A, B eramy @)% L& @née (AB)=0 crafld Q e L :

(=) 1 (=) -1 (@0 (F) -1=Q=1
In case of two attributes A and B the class frequency (AB) =0 the value of Q is :
(@) 1 B -1 () O d] ~1=Q=1

A, B eramueneu erdlflepL 1 LTLEanaTLl QupdlmLibe :

i)

(A (B) = (a5 (<) (AB) >
A
@ ow< 5 (™) (B=

If A and B are negatively associated then :

A) (B

il B 6>
&) B) (A @)

() SBECTN @ @B="g—

[ &liys / Turn over
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48.

49.

50.

14
Siworens Camiur@ CsrrymLgl
(1) florL&85 dnlgl SHEELOSHET 6 {66
(<) BLOLISSSTEMLOE ClETaiTL Siorasmg el CFueg)
(@) aufleowss Qsri ArfsmaIsEnsE 2 5HS STOTEIBISENET @g,rrp@g,@uu@
() Gupsmlu Si@arSIID
Decision theory is concerned with :
(a) The amount of information that is available
(b) Criteria for measuring the ‘goodness’ of a decision

(c) Selecting optimal decisions in sequential problems

(d) All the above

@acamamus darar® BuQump efigsd Gompeairs @ @m&amsud
Qswpum e Csira| Celieugl :

(<=1) B&fmallan - BLALH eTenal (<) BLGQUmeden &S eTema
(@) BSuGumelar - BLEILM® SiaTea () @aupdler gemmibleane.

The criterion which selects the action for which maximum pay-off is lowest is kno
as :

(@) Max - min criterion (b) Min - max criterion
() Max - max criterion (d) None of these
Sirorer LF augeud sHUBSL UHSSMS EToTaThSeT WM

geumiiliL] e9lenaeTeyseT.

(<=1) B&8m (<) BUCU® (@) Qgrir (%) HéswHD
Decision trees involve of decisions and random outcomes.

(@) minimum (b) maximum (c) sequence (d) wuncertain
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UGS - 11 /PART - II

@O : eremeuCuienid LSlenenhg flanmés@EnsE el wellésea|b 15x2=30

Note : Answer any fifteen questions.

51. Blupsener HSDSSMmeU UMTLIMISS.

Define conditional probability.

52. A, Beranm @ errupm BlepEsls@Ener P(A)= —;— ~E(B)= % craviler rCaseID epeim)
HEpeusHETe HSDSEMeLE STes.

1
For two independent events A and B for which P(A)= 7 and P(B)= 7, find the

5
2 3

probability that only one of them occur.

53. e sweumily wrfl X Qereumid Hapsseils ureuamels QuHHHESDE.

X 0 1 2 3 4
P(X=x) 3a 4a 6a 7a 8a
(<=1) a &1 WL sme. (<) P(1 <X < 4) @& ST

A random variable X has the following probability distribution.

X 0 1 2 3 4
PX=x) 3a 4a ba 7a 8a

(a) determine the valueof a  (b) Find P(1 <X <4).

[ &lgplinys / Turn over
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2x . ) ¢ s : :
54. f(x)="5,0<x <3 eremp Ty HELpss6] LTSS eTium crar gflum.

2x ;
Verify whether the function f(x) = 5 0 < x < 3 is a probability density function.

55. elwésl QUMmEES CsTams 2 Haurs@h &riy (mgf) upd @@ Hn GO
GT(PSIS.

Write short note on moment generating function.

56. syrefl 3 pmid LIYUTEH 2 erend Csmeamm FHDILILY LITEUENGE SITEHTS.

Find the binomial distribution whose mean is 3 and variance 2

57, umigrer ureue LDHD efleuflssayd.

Explain Poisson distribution.

58. @Quéfleals ureialer TGS@ID BTENE LIGTLSMET 6T(pSIS.

Write any four properties of normal distribution.

59. wrdfll LFeume eueTwni&Es.

Define sampling distribution.

60. ps@eims Wanl wWHDID GremLTd ams Koy Gaipamp Qgafleurs afleu
Explain clearly type I and type II errors.

61. o Corgmanda z <z, erab AuTE!, @é ereyid er@Careners upH B
T (&G (Pigay ereman ?

In a test if zy=z, , what is your conclusion about the null hypothesis ?




63.

64.

65.

66.

67.

68.

69.

70.

17 3678

P
62,

svBLaTigan ‘t GCergenen Gaml Lm(Hasamer 6r(Lps)s.

State the assumption of students ‘t’ test.

giélen Smssd - fp GHLIY aumrwug.

Write short notes on Yate’s corrections.

F - yerefludlwied jemeneu - cuenpuimy.

Define F - statistic.

sreg Agrii auflenguiled 2 arer upiishn wrmur@ser Afeleamer efeuf.

Discuss irregular variation in the context of time series.

e Fewfllienu emaf (B QeuauCGoum (Pem&ET Wreneu?
What are the different methods of forecasting ?

Garhésiul L efleurmisear QUTHSSAPELIIGTCUT GTaT < FTilis,
N=60; (A)=51; (B)=32; (AB)=25.

Examine the consistency of the given data :

N=60; (A)=51; (B)=32 ; (AB)=25.

wellen Clsrfié Qepamal smis.

Give Yule's co-efficient of association.

Héswwnn Heoole assmewu Azrfieo panssmsmart LwLaUGHS
Erorer’ drégmenser Siey CopOsrarariiu@dmng?

What techniques are used to solve decision making problems under uncertainty ?

giorer aligal LD - Ay GOLY s

Write a short note on decision tree.

[ $lpliys / Turn over
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u@$ - I / PART - III
@iy : gCseid Jpml flamés@héS cllenL_wafl&sayiD. 6x5=30

Note : Answer any six questions.

71. @@ eouuded 6 GeudTemer, 4 Lgeng, 10 EEea HDULHSISEET 2 eTaTe. @ e
LbGIGET FLoGUMILIL] e mulled crHssLSaen eraile Qrem®C WwEpFe
LIb&ISETTS @)HLLISDSTET HEpIHmeUSE GTERTS.

A bag contains 6 white, 4 green and 10 yellow balls. Two balls are drawn at random.
Find the probability that both will be yellow.

72. @HEIT HHD US®L RETE®D SEHPTH. SHD UST Tam aUHSTD al(HLd
cramafin@iu uargos HSS! Qaupdl QUOEDTT. LHD GTawT QUBSTE 9IS
aamamEGlu  UMTEMES Qar@ss Caraeluypsori. e erfl v
eQemerur@ueuflen erdliumiggereomL pHLIMUE SalFE o6 SHSMES &Dis.
A player throws a fair die. If a prime number occurs he wins that number of rupees

but if a non - prime number occurs he loses that number of rupees. Find the expected
gain of the player and conclude.

73. GepwdHm LSS BHTERTLIRISET @Cr swWSS® sarL_tiu@&earpar. ieupBled
GODHSS 7 SEOQHET AepL_LILghHETan HSDSs6| STETS.

Ten coins are tossed simultaneously. Find the probability of gettin atleast seven heads.

74. umigTeT LiFelele &b sweumiiy rd X &@ P(X=1)=P(X=2) erasiley LiFeuedien
syrsfl wHmD PX=0) &1 WHUIL STEms. [ = 01383].

If a random variable X follows Poisson distribution such that P(X=1)=P(X=2) find
e sasan o the distiibution and POG=0); |7 = 0.1353].



75,

76.

77,

19

'R FeuTliy Lordflulled er@SsLLC L 100 Luwiseafer srmefl oLl sren
15269 &l.18. eram = Menio Caremrr Cu@dpg. Qs wrdfl er@ésrir L
GP@@ws bsred Lwuisalar eyref B sTed 15200 £.15. LHDID Sigewr
FLL clowssn 1248 £.18. 2AGWL. 365 2 MNevwuenr Burwusens Csrsemar
Qs

It is claimed that a random sample of 100 tyres with a mean life of 15269 kms is drawn
from a population of tyres which has a mean life of 15200 kms and a standard deviation
of 1248 kms. Test the validity of the claim.

10 wremreurgeafien eremr (8l.8le0) &Cup G]a;rr@eisasuul'_(ashmgj. :

38, 40, 45, 53, 47, 43, 55, 48, 52 OmID 49. Gopaar wrHf er@ésiug SIS G)
oremreuisefien crepL_saflem Lireucien wrouUr® 20 &.4). erang Qerdaemor?
Weights in kgs of 10 students are given below :

38, 40, 45, 53, 47, 43, 55, 48, 52 and 49

Can we say that the variance of distribution of weights of all the students from which
the above sample of 10 students was drawn is equal to 20 sq kg ?

e (mLd allourhisEsEE e
S5 S (h .

Bleeoliu@ssiiuc L 4 QUBL B&HL srra
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1940 1950 1960 1970 1980 1990 2000

GU(THL_LD

Q&g

Qe L uggs | 129 | 131 106 91 95 84 93

G]&neir@g,sb ('000)

Construct a four yearly centered moving average from the following data.

Year 1940 1950 1960 1980 1990 2000

Imported cotton
consumption
('000)

| 1970

129 131 106 o7 95 84 93

[ ®UYys / Turn over



3678

78.

79.

20

1500 Cuir erepd Curiind Gairefler 425 Guir Qeupd Quppent. @de seill
Ll@HH Qupp 250 Gufld 150 Gur Qeupd Quppanit. sefluuiHéludler
pwerur’_ el wHIGNGHS.

1500 candidates appeared for competitive examinations. 425 were successful. 250
had attended a coaching class and of these 150 came out successful. Estimate the
utility of the coaching class.

o Siwrand CoHAsTarueui epen) Sirorer LIHD HL6Ulg&EE&EHET WHDILD
@ran® GpHoo Hoouur@amer erdlir Qarerdlenmri. (i) 15 &8 my 6l 6o
BLQUEH wHiy ([H) BUGUE wHue B&fly @i perpsamer aduwTen (b
SpsaaL SHaNSSD LIS Qaran® CupQsrer@End STorasens
uflbgieré&sa.

Gbloe Hlaeouuri —
S; S,
Qewpur®
A, 10 15
A, 20 12
As | 30 11

Suppose that a decision maker faced with three decision alternatives and two states of
nature. Apply (i) Maximin and (i) Minimax regret approach to the following pay-off
table to recommend the decisions.

State of nature —
Actl % >
A, 10 15
A, 20 12
As 30 11
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GPILY . gCsemib et ellenmda(emé s aflenL_wiefgaa,ib, 4x10=40

Note : Answer any four questions.

80.

81.

8@ <pewfser swrflésb @m Asmfheramanuden, e Corés o MHusHue,
SBIGETaT Ay, Ay, Ay ereimp e eThdrhiser wanmGu 25%, 35% HOID 40%
BUTf&GL Sneyen weme. swrflssliuc L me 2t & @56, 5%, 4%, 2%
BmE wallsd Gopur@ereareame. 20 MG el sweumiiy peroulled
CoipRs®esiiu @ Sig G@pUTHeTeng eremm s@TLHluLLGSng. =415 A,
ereim eTBErS swirfinde BmbsI eumeughaTen Bs0856, eranar?

In a bolt factory machines A, A,, Az manufacture respectively 25%, 35% and 40% of
the total output. Of these 5, 4 and 2 percent are defective bolts. A bolt is drawn at

random from the product and is found to be defective. What is the probability that it
was manufactured by machine A,?

100 e @if Wensewearser i kidw 2@ wrfulée smeasafdar Lmar S(HLD
sromsmer GCergamenil @ e _LiLieng, emamLomp STUUL (Deerg). syraf
n=12 wenfllger, H L wssnd c=3 wafsdr Bleuefeuyiigser QudBlenels
LpaueeL duppetersras Qsmam() THEMT F56SD 06T SoEIsET

@) 15 wefl Crredne Cue

(i) 10 wHMD 14 wewd Crrsdn@ Qen_ufe

(iil) 6 wenfl CrrsHne Sip Levar SMHUDWITE QHEGD Tand Sremrs.

A sample of 100 dry cells tested to find the length of life produced the following results

=12 hrs, =3 hrs. Assuming the data, to be normally distributed, what is percentage
of battery cells are expressed to have a life

()  more than 15 hrs
(ii) between 10 and 14 hrs

(i) less than 6 hrs ?

[ &BUys / Turn over
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RMH LDSDOESDS braveisalaLCu wrs@s@ly prsdludea 850
Lo TETeUTEERD 550 Lomemralls @hid aunssengsant. wramalrsefe 530 CU@®D.
oramedwufa 310 CUD ‘b’ Tar UTESHENSSaT. LD IT &80T 6L 7 (6T & () LD,
wraredwmsEh Qe Cuuirar &H5S Ceaugur® nlil| TLHSST eTems
G NEICE:S

In a referendum submitted to the ‘student body’ at a university, 850 men and 550
women voted. 530 of the men and 310 of the women voted ‘yes’. Does this indicate a
significant difference of the opinion on the matter between men and women
students ?

Apliy pueen HLLSSDEG weryb Qe r@ésuuL 6 senLgarlen
apuener efeurid G Qar@&Eslul(HeTerg.

FHEOL_S6T A B C D E F
gl‘."g’é’]m G | 53 | 28 | 31 | 48 | 50 | 42
apan
S80S | 5o | 29 | 30 | 55 | 56 | 45
Qeor

@ouy anpuemen FLL LD Qeund erans seamflEsemor 2 5% Amliy &mewr
ol Lgde Cergenar C&wis.

The sales data of an item in six shops before and after a special promotional campaign
are as under :

Shops A B C D E F
Before

campaign | 53 28 31 48 50 42
After

campaign [ 58 29 30 55 56 45

Can the campaign be judged to be a success ? Test at 5% level of significance.
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84. 31_3;85L'_@$61ﬂ6i) LAl GULL 4 euans Camgieniosaiien eflanarisc efleurmiger £Gip

85.

STULL(HeTerTe.
s (D&
cumsger| 1 2 3
I 10 9 8
I 7 7 6
I 8 5 4
v 5 4 Z

Steupler God wrmur @ L@UUMLGY Wwamer Lweatur®) Qsdis,

Apply the technique of Analysis of variance to the following data relating to yields of
4 varieties of wheat in 3 blocks.

Blocks
Varieties| 1 2! 3
I 10 9 8
II 7 7 6
I 8 5 4
IV 5 4 4

P0G ETssmr Yooular o Huss efeurkiser 1000 GellamLroseficr Gy
Car®és0ur Hererg. B8&8m auirés wpeppuded Curss LU smaTE STems.

— 1994 | 1995 | 1996 | 1997 | 1998 | 1999 | 2000
2 PUSS 80 90 92 83 94 99 92
Lot erfle

Below are given the figures of production in ‘000 quintals of a sugar factory.

Year 1994 1995 1996 1997 1998 1999 2000
Production in

80 90 92 83 . 94 99 92
tonnes

Calculate trend values by the method of least squares.
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@G LTs Qs uRELLTert T Qs Comaussrar Spssam_ Hapssma
@15EH Qe

GCoameu winen wirg @ssaflen erarranisms 2 3 4 5

Hapssey 0.4 0.3 0.2 0.1

@0 Qsflan ellee . 6 6@ auriidl Sisoar @. 8 &@ Apdapri. TSHED
ors @Qshamar et Coilsmsuld SumeEs dsLils erglrumrrésluBib
Qarud HoLsEn? i edpumanursrs Qswser geabeauraramulb
5. 5 &@ eSlpSlenmmir.

A magazine distributor assigns probabilities to the demand for a magazine as follows :

Copies demanded : 2 3 4 5
Probability : 0.4 0.3 0.2 0.1

A copy of magazine which he sells at Rs. 8 costs Rs. 6. How many should he stock to
get the maximum possible expected profit if the distributor can return back unsold
copies for Rs. 5 each ?

-00o0-



